Efficiency vs dr

o 0.05
<
9.045
20.04
c
Q
®.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

1.0

M_an TTOr||n
e TTNEWH%M%S?U@

Ratio

LIT

[y

M—mKkFIt~ TTNEWHSMSQSd

LRI
(LA
10

1078 1072

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001
e

Ratio
N

0.95 S . SR
1072 107
AR(TP, jet)

=
S
w

Efficiency vs pu

50.02
N S S VTN ORI SO A £
000 N S S S I
O e S IS IS B &
[} I N ] ] N N i N
®.014F : ] ] : : :
t -
9.012F
0.01F
0.008F
0.006F
0.004F
0.002F

0
il

Ratio

90 100
Pileup



	Contents
	Page 1


